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(a) Jones, the sole shareholder of T Corporation, transfers to T two parcels of land (both capital assets held by Jones for two years)
Gainacre (FMV -- $10k, Basis = $5k)
Lossacre (FMV = $10k, Basis = $12k)
Inventory (FMV = $5K, Basis = $2k)
Jones receives T common stock in return worth $15k, T preferred stock worth $5k, and $5k cash.  Assume that the preferred stock is not “NQPS”
Determine tax consequences to Jones and T Corporation.


(b) Same as (a), except that Jones’s basis in Lossacre was $20k immediately prior to the transfer to T.

Gainacre (FMV -- $10k, Basis = $5k)
Lossacre (FMV = $10k, Basis = $20k)

Inventory (FMV = $5K, Basis = $2k)

